

Adding Mixed Numbers

Name: _____ Score: _____

Calculate and show your answers in the lowest terms

$$3\frac{2}{3} + 2\frac{1}{6} =$$

$$1\frac{3}{4} + 2\frac{3}{8} =$$

$$2\frac{1}{2} + 1\frac{3}{8} =$$

$$2\frac{1}{5} + 3\frac{6}{10} =$$

$$2\frac{1}{9} + 1\frac{1}{3} =$$

$$2\frac{1}{3} + 1\frac{3}{9} =$$

$$1\frac{2}{3} + 1\frac{3}{6} =$$

$$5\frac{1}{2} + 1\frac{4}{6} =$$

$$4\frac{3}{4} + 2\frac{1}{8} =$$

$$1\frac{3}{4} + 2\frac{7}{8} =$$

$$2\frac{1}{8} + 6\frac{1}{2} =$$

$$2\frac{2}{3} + 2\frac{4}{6} =$$

$$2\frac{1}{2} + 3\frac{3}{8} =$$

$$2\frac{3}{8} + 4\frac{2}{16} =$$

$$3\frac{3}{4} + 1\frac{5}{8} =$$

$$3\frac{7}{8} + 1\frac{2}{4} =$$

$$4\frac{1}{3} + 4\frac{1}{6} =$$

$$3\frac{3}{8} + 4\frac{1}{4} =$$

$$2\frac{1}{3} + 3\frac{5}{6} =$$

$$2\frac{1}{2} + 2\frac{6}{8} =$$

$$2\frac{1}{6} + 2\frac{1}{2} =$$

$$2\frac{1}{2} + 2\frac{7}{12} =$$

$$2\frac{2}{3} + 1\frac{4}{9} =$$

$$2\frac{5}{6} + 1\frac{2}{3} =$$



Answers

Calculate and show your answers in the lowest terms

$$3\frac{2}{3} + 2\frac{1}{6} = 5\frac{5}{6}$$

$$1\frac{3}{4} + 2\frac{3}{8} = 4\frac{1}{8}$$

$$2\frac{1}{2} + 1\frac{3}{8} = 3\frac{7}{8}$$

$$2\frac{1}{5} + 3\frac{6}{10} = 5\frac{4}{5}$$

$$2\frac{1}{9} + 1\frac{1}{3} = 3\frac{4}{9}$$

$$2\frac{1}{3} + 1\frac{3}{9} = 3\frac{2}{3}$$

$$1\frac{2}{3} + 1\frac{3}{6} = 3\frac{1}{6}$$

$$5\frac{1}{2} + 1\frac{4}{6} = 7\frac{1}{6}$$

$$4\frac{3}{4} + 2\frac{1}{8} = 6\frac{7}{8}$$

$$1\frac{3}{4} + 2\frac{7}{8} = 4\frac{5}{8}$$

$$2\frac{1}{8} + 6\frac{1}{2} = 8\frac{5}{8}$$

$$2\frac{2}{3} + 2\frac{4}{6} = 5\frac{1}{3}$$

$$2\frac{1}{2} + 3\frac{3}{8} = 5\frac{7}{8}$$

$$2\frac{3}{8} + 4\frac{2}{16} = 6\frac{1}{2}$$

$$3\frac{3}{4} + 1\frac{5}{8} = 5\frac{3}{8}$$

$$3\frac{7}{8} + 1\frac{2}{4} = 5\frac{3}{8}$$

$$4\frac{1}{3} + 4\frac{1}{6} = 8\frac{1}{2}$$

$$3\frac{3}{8} + 4\frac{1}{4} = 7\frac{5}{8}$$

$$2\frac{1}{3} + 3\frac{5}{6} = 6\frac{1}{6}$$

$$2\frac{1}{2} + 2\frac{6}{8} = 5\frac{1}{4}$$

$$2\frac{1}{6} + 2\frac{1}{2} = 4\frac{2}{3}$$

$$2\frac{1}{2} + 2\frac{7}{12} = 5\frac{1}{12}$$

$$2\frac{2}{3} + 1\frac{4}{9} = 4\frac{1}{9}$$

$$2\frac{5}{6} + 1\frac{2}{3} = 4\frac{1}{2}$$

